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TERMINATING & NON — TERMINATING DECIMAL

* A terminating decimal is a decimal, that has an end digit. It is a decimal, which has a

finite number of digits(or terms). Ex: 0.15, 0.86 etc.

* Non —terminating are the one that does have an end term. It has an infinite number of

terms. Ex: 0.5444,0.11111 etc.
* There are two forms of Non — terminating decimal:

1) Repeating Non — terminating decimal

v
2) Non —repeating Non — terminating decimal.
———
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REPEATING & NON — TERMINATING DECIMAL

* Repeating & Non — terminating decimal: Repeating decimals are the one, which has a

set of terms in decimal to be repeated uniformly.

Ex: 0.66666 ....,0.123123 ... etc.

It is to be noted that the repeated term in decimal is represented by a bar on top of the

repeated part. Ex: 0.3333 ..., 0. 3.

A’

Non — terminating and repeating decimals are rational numbers and can be represented

in the form of p/q, where g is not equal to zero.
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WAY TO SOLVE REPEATING & NON — TERMINATING

« Type 1: Fraction of the 0.ab

The way to convert such type of decimal to a fraction is given by:

— Repeated term ‘ 0-3 = 5 - //
ab = Number of 9's for repeated terms c’ 5
Vv

Fx: 0.8,0.126
l (e
0.9 - ODefap = 126
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WAY TO SOLVE REPEATING & NON — TERMINATING

» Type 2: Fraction of the 0. abcd

The way to convert such type of decimal to a fraction is given by:

/ /0~0L0qlcofcqp,__) L
0.abed = (abcd) — ab
Y - N?ﬂlbe’r of 9's for the repeated terms & 0's for the non-repeated terms
Ex: 0.123%,0.0079 0-0079 = 77 — 00
u —
0+/33Y = /33y — R _1232 1700
v - 239
7760 990 77

A
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NON — REPEATING & NON — TERMINATING DECIMAL

* Non —repeating & Non — terminating decimal: Non Repeating decimals are the one,

which does not have a set of terms in decimal to be repeated uniformly.

They are said to be an irrational number.

Ex: V2 = 1.4142135 ... / (QXCL/)/' /Y, 7/ /é,.Qg _ . >

v W

The square root of all terms, except perfect squares, are irrational numbers.
\—J‘f

6,05, T,
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QUESTION

Simplify by converting to fractions:

a) 0.24 - 'Ré’
77

b) 02341 -  33Y/
“9979

VORI 2720 4 prods - 2 gt
900 fo0 77
/
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QUESTION

Solve the following:

a) 3.76 —1.4576

b) 0.46 +0.723 —-0.39 x 0.7
N————

g"/é"‘/ 4 743 -7

—

7o 970

Co

—
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LAW OF SURDS & INDICES

(1)
oo La iJ = d oo

X3 a a = g
—_

% (et = g X2

o a__1n — - o
ol a =
o a¥ =
N AL

1
ab" = (ab)"

m. 0= ,mn

a 1
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SPECIAL SERIES

(11) Valueof\/P—\/P—\/P— ..... 0 =

(1) Value of \/P.\/P,\ /p ...... . /

N
(IV) Vﬂlue Of \/P\/P\/P ’P\/F _ P(zﬂ—l)‘ff?
\ANANN_ "]

where n — no. of times P repeated.
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SPECIAL SERIES

(@) Sum of first » natural numbers

n(n+1l
%:1+2+3+__.+ﬁ: 5

(b) Sum of first # odd natural numbers
=1+3+5+..+Q2n-1)=n

(¢) Sum of first 7 even natural numbers
=2+4+6+. . +2n=n(mn+1)

l[+3+5 - (3) -

\N—

{
Q(‘/f*vz‘l'S,,’n :/ 7)(7)‘*’) - 7)(”‘”)
) o)
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SPECIAL SERIES

(ii) Sum of squares of first #» natural numbers

nn+1)2n+1)

=12+ 2243+ 2=

6
(iii) Sum of cubes of first » natural numbers
n(n+1l) 2
P24 =
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SPECIAL SERIES
/

: : . (1 1 1
* Consider, a special series|—H- + + e +
1x2/ 2x3 = 3x4

b
\
\\

1 1 1 1 1[1 1

+—t—4 .t =-l-——| =]
1X2  2X3  3Xx4 nx(n+1) 111 n+1

M

1
Last term in denominator

N T
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QUESTION

Find the sum of series e + +—F +

Lo
°?7L6f/4T—

K- ofenominater form

1
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QUESTION

1 1

Find the sum of series ! + + —4 -
6X7

\ g

_L- + _L + - _ -—/— —_
[A3 43 o?‘/m)

24X25
4L
[ X4 AX3
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ARITHEMETIC PROGRESSION

* A sequence is called an arithmetic progression, if the difference of any two

consecutive terms is constant.

Q2 a+3

The difference of any two consecutive terms of a,a + d, a + 2d ... is constant, ?
atq+d @ 1‘4 t

this series is known as arithmetic progression. g

Its first term is a and common difference is d. 2-'/ 7, /D /13 | ..
)

nth term of series{T,, = a+ (n — 1)d @
)
~7 T3
Last term of series@= a+n-1)d
n A af(Q”’)CV a‘f'(g’/)J
Sum of n terms of series, S, = [2a + (n—1)d] = > “la + 1]
N A e A
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IMPORTANT PROPERTIES

* |f constant is added to or subtracted from each term of an A.P. then the resulting

\r— —P

sequence is also an A.P. with same common difference.

* If each term of A.P. is multiplied or divided by constant k, then the resulting

sequence is also AP with common difference with kd or d /k.
AL S

e If three numbersa,b & c arein A.P.then 2b = a + c.
S S, =N |3t (7)'/74]

* Ty =5, —Sp-1 4 A
A \A—\A//’ 7)’/

-0 [ fasf Ferm
4, a, ,/,an’/ 7 [ firtF ferm +
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3 mes. In AP 0-4’}“,‘”‘”/}

oy o ° f-3 _
7 s ’ 1, J/ QM/ 4”9’ Commy

N y J 0—34/ Q—Cf’/ a, a‘fﬂ’/ df'o?% 0(/;7[7[0(%& ;Cf

6 mos in AP d——b‘d/a,gcﬂ/ 4'0’,“"4)/“%0’/“570
(commmen diff = 24)

a——
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QUESTION

InanA.P,ifa=-7.2,d = 3.6, a,, = 7.2, then find the value of n.
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GEOMETRIC PROGRESSION

* A sequence is know as geometric progression, if the ratio of any term to its previous

term is constant. 0?/ /6 34 6‘/ .
e Ifaq,ay, as, ... ... a, arein G.P. A M ; > 4
* Then, 2B % = here)\r is common ratio.
aq a, as
% ./

Nth term of G.P,, T = qr™1

34
Last term of G.P,, l—ar" 1 ”? (Ré) y

ay gl

AN
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GEOMETRIC PROGRESSION
e Sum of n terms of G.P,, gn - azrn’ /2 Tr)
Y —
a s, = a(::l) wherer > 1 ‘L /) "3,)
<l Sy a() -7
Qs, = a(i::n) wherer > 1 < (,,,y

e Sum of infinite terms of G.P. S, = 1& where |r| <1

Nl)eﬂ T<// "rn_/)b

o «(o)

-7
[/ <]

\/M

n— 00/

()
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IMPORTANT PROPERTIES

* |f all terms of a GP multiplied or divided by same constant, then it remains a G.P.

with same common ratio.

a, ar, art . .
»"The reciprocals of the terms of a given G.P. form a G.P. k// : /
—_— oy =, - - 7
* If three numbers a, b & c are in A.P. then b? = ac. a ay ar*

N\ A—AA—~ U
* T =51 — Sn-1 A

2. _9:7 bh ac
" b _

(@U, ¢ C?”)
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QUESTION @
Which term of the G.P. ?1%% is —?
B r- |
iy = ar’/ ( 1
/7/8 - ()£ "

)
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HARMONIC PROGRESSION

* Asequence aq,dy, A3, cev e ... a,, is called a harmonic progression, if the sequence is
W

1 . . . .
, , - — is an arithmetic progression.
a, ap Aas an ,

 The sequence 1, 3,5, 7 is H.P. because 1,%,%,% is an A.P.
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ARITHEMETIC, GEOMETRIC & HARMONIC MEAN

~——" A~

Let a and b be two quantities, then Arithmetic mean(A.M.) of a and b is aTH? /

(& 2

Let a and b be two quantities, then Geometric mean(G.M.) of a and b is ;\/a X b.

Let a and b be two quantities, then Harmonic mean(H.M.) of a and b is % &

. . 2 -&" st —L.,- J'
* Relation between A.M.,G.M. & HM.isG* = A X H. by & b
(V. A
(AvG7H)

Lov »- Zaanﬁ(’m

/
AM - 0, +a°z fﬁ)‘f -— ay) C7M z " 4/424'2"1 a7




CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 2

QUESTION

Find two numbers whose A.M. is 34 and G.M. is 16.

a____/—élg = d‘f‘é:ég
- A G L4, 4
NN
ab =/
6(5:5{5‘@ (/67”9)
e~
VLY

6oy Y
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NUMBER OF FACTORS OF COMPOSITE NUMBER

It1s possible to find the number of factors of a composite number

without lising all those factors. N q
Let N be a composite number such that N= (.,1) »)’ (2)°..
¥, z... are different prime numbers. Then the number of divisors (or
factors) of N=(a+1)(b+1)(c+1)...

Here factors and divisors means the same. M

Take 12 for mstance, 1t can be expressed as 12 =22 x 31,

. wherex,

12=1,25%Y6,/2
/Dr/me faofor/m&m — A Al

cfors = (a+1)(bt1)
7[7[“ (A}‘H}I‘H -37(02 @
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2= 9% x 3l
M6 . o{ /)r)me 74cfor9/ y 4\;‘/3
a//'{ﬁn{ ‘Tofa/

anry (“40/ The /bm?evx

{+f 0 %dpr&
(&% @ f i fir)
[C }t’m Mand
prive refos Sy

b
()
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EXAMPLE
What is the number of prim'e' factors of 300307

(a) 4 (b) 5

(€) 6 (d) None of these

2 @oogo Y YYD

3 &/:5017 30030 = 02/)( 3/7”[7( IIX//XB/
51H00K My - % frfmc f“cfovg - (ac/d PMWQ

?(/00/ i
n{1m3 i @
/3
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:

NUMBER OF ZEROES IN FACTORIAL

Sometimes we come across problems i which we have to count

number of zeros at the end of factorial of any numbers. 4 - Y %3 %3 X/
Ex. Number of zeros at the end of 10! *
10!=10x9x8xTx6x5x4x3x2x] 8 = gRpn6x -/

Here basically we have to count number of fives, because
multiplication of five by any even number will result 1n O at the

Q
end of tinal product. In 10! we have 2 fives thus total number ol &UD ff“]’
of zeros are 2. v/ o\ (7] o dfvl\fl'm
Counting number of zeros at the end of n! value will be (__) ( 10 + ghould Ve
g+52+53 +54 _I_; ........ ”a%},ya

The integral value of this number will be the total number of [/ | = @

A A~—— —e
ZEI0S. \\




CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 2

Q) What is the remainder after dividing
the number 37°°° by 9?

@ 1 () 3
(c) 7 (d) 9 .

/ 5%0
3™ ((?’X‘/)HA _
7 7 o
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Q) What is the remainder after dividing
the number 37°°° by 9?

(@) 1 (b) 3
(c) 7 (d)9

Ans: (a)
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Q) What is the remainder when 27°’ — 15% is divided by 62

(@ O () 1 () 3 @ 4
a" 40— when m i 0dd,
divisible by @tb.
Q=374 L=1f ]
Ath = QFFIS Feminder =0

~ ’\‘ (Mu/#/v/e 07[ (;)

= 6 X7 / 0749 g (¢ dwislble éd 6.

N
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Q) What is the remainder when 27°’ — 15% is divided by 62
(@) 0 5) 1 © 3 @ 4

Ans: (a)
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Q) What 1s the maximum value of m, 1ifthe number N=90 x 42
X 324 x 55 1s divisible by 377
(a) 8 Y 7
(c) 6 (d) 5
70 X Y34 % 34y x %

X/D)X@( ij) x(ix/‘//) A (//M
"] =

37 3/ 39

d+/+Y g@
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Q) What 1s the maximum value of m, 1f the number N=90 x 42
X 324 x 55 1s divisible by 377

(a) 8 (b) 7
©) 6 d 5

Ans: (b)
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Q) The digit in the unit’s place of the number represented by
(7% =3%%)is:

@) 0 ) 4
© 6 @ 7 N
F15 — 558 ¥ —9
w,,,/qf,’. y) 3 Tema}na'erfg’t'{/) 93 — 3
- ’? . — y
7=
;GS B Ba)umfoUJ’ 3/ 3

;3— 3% — 9
JONNY, T
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Q) The digit in the unit’s place of the number represented by
(7% =3%%)is:

@ 0 (b) 4
© 6 d) 7

Ans: (b)
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Q) The sum of 52+ 62 + 72 + ...+ 15215
(@) 1110 ) 1120
(¢) 1310 (d) 1210

(IQMLHZ_,‘_/_{“) _ (/%'?2*303"‘/2)

ISHIbx3) _—  4x547

A G

P
-

//
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Q) The sum of 52+ 62 + 72 + ...+ 15215
@ 1110 (b) 1120
(¢) 1310 (d) 1210

Ans: (d)
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Q) Ifx 959 y1s divisible by 44 and y >5, then what are values of
the digitx and y ?
(@) x=7,y=6 (b) x=4,y=28
() x=6,y=7 (d) None of these
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Q) Ifx 959 y1s divisible by 44 and y >5, then what are values of

the digitx and y ?
(@) x=7,y=6 (b) x=4,y=28
() x=6,y=7 (d) None of these

Ans: (a)
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Q) If the number 413283P759387 1s divisible by 13, then what
1s the value of P?

(@) 3 b) 6 () 7 (d) 8
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Q) If the number 413283P759387 1s divisible by 13, then what
1s the value of P?

(@) 3 b) 6 () 7 (d) 8

Ans: (d)
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Q) The number of prime factors in the expression
(OO (D% (11)? 1s:
(a) 4 (b) ™4 (c) 71 (d) 81
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Q) The number of prime factors in the expression
(OO (D% (11)? 1s:
(a) 4 (b) ™4 (c) 71 (d) 81

Ans: (b)
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Q) The seven digit number 876p37q 1s divisible by 225. The
values of p and q can be respectively
@ 9,0 (b) 0,0
(© 0,5 (d) 9,5
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Q) The seven digit number 876p37q 1s divisible by 225. The
values of p and q can be respectively

@ 9,0 ) 0,0
© 0,5 d) 9,5

Ans: (d)
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11
Q) The sum of three fractions is 2£' When the largest

fraction 1s divided by the smallest, the fraction thus obtained

7
1S g which 1s ; more than the middle one. The fractions

arc.

IR

4 2 75
773 ® 3%
23
373

(d) None of these
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11
Q) The sum of three fractions is QE- When the largest

fraction 1s divided by the smallest, the fraction thus obtained

7
1S g which 1s ; more than the middle one. The fractions

arc.

IR

4 2 75
773 ® 3%
23
373

(d) None of these

Ans: (b)
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Q) If the sum of two numbers 1s 55 and the H.C.F. and L.C.M. of
these numbers are 5 and 120 respectively, then the sum of
the reciprocals of the numbers 1s equal to:

601 11 120

35
@ 7 ® =5 © 5o @D 77
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Q) If the sum of two numbers 1s 55 and the H.C.F. and L.C.M. of
these numbers are 5 and 120 respectively, then the sum of
the reciprocals of the numbers 1s equal to:

601 11 120

35
@ 7 ® =5 © 5o @D 77

Ans: (c)



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 2

Q) If the points P and Q represent real numbers 0.73 and

0.56 on the number line, then what 1s the distance between
Pand Q7

1

16
@ - O

1 11
g (©) E (d) %
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Q) If the points P and Q represent real numbers 0.73 and

0.56 on the number line, then what 1s the distance between
Pand Q7

1

16
@ - O

1 11
g (©) E (d) %

Ans: (a)
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Q) Minimum difference between x and y such that 1x 71y 61 1s
exactly divisible by 11 1s

(@) 2 (b) 3 (c) 1 (d) 0
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Q) Minimum difference between x and y such that 1x 71y 61 1s
exactly divisible by 11 1s

(@) 2 (b) 3 (c) 1 (d) 0

Ans: (a)
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Q) The value of
1 | 1

1
V76 Vo5 v5-2 Js—7

1
3—\/518

@ O (b) 1 © 3 d) 7
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Q) The value of
1 | 1

1
V76 Vo5 v5-2 Js—7

1
3—\/518

@ O (b) 1 © 3 d) 7

Ans: (c)
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Q) What 1s the unit digit 1n the expansion of 67°%2
(@ 1 (b) 3 (c) 7 (@) 9
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Q) What 1s the unit digit 1n the expansion of 67°%2
(@ 1 (b) 3 (c) 7 (@) 9

Ans: (a)
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Q) Three men start together to travel the same way around a
. : 1
circular track of 11 kms. Their speeds are 4, 5 5 , and 8 kms
per hour respectively. When will they meet at the starting
point?
(@) 22hrs (b) 12hrs
(¢) 11hrs (d) 44 hrs
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Q) Three men start together to travel the same way around a

1
circular track of 11 kms. Their speeds are 4, 5 5 , and 8 kms

per hour respectively. When will they meet at the starting
point?

(@) 22hrs (b) 12hrs

(¢) 11hrs (d) 44 hrs

Ans: (a)
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Q) One pendulum ticks 57 times 1 58 seconds and another 608
times 1 609 seconds. If they started simultaneously, find
the time after which they will tick together.

211 1217

@ g8 ® 3

S

1218 1 1018
© g s @ 9 s
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Q) One pendulum ticks 57 times 1 58 seconds and another 608
times 1 609 seconds. If they started simultaneously, find
the time after which they will tick together.

211 1217
@ g8 ®) s

1218 1018
© g s @ 9 s

Ans: (c)
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Q) The LCM of x3—1,x*+x?+ 1 and x* = 5x* + 4 is
@ G-Dx+1)x-2)
b)) ¢-DE+D)E+2)
© *-1)(*—4)
d) FP-1)(*—4) @X+x+1D)(E%+1-x)
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Q) The LCM of x3—1,x*+x?+ 1 and x* = 5x* + 4 is
@ G-Dx+1)x-2)
b)) ¢-DE+D)E+2)
© @2-1)(x*-4)
d) FP-1)(*—4) @X+x+1D)(E%+1-x)

Ans: (d)
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Q) What is the HCF of 36(3x* + 5x° — 2x%), 9(6x° + 4x* — 2x)
and 54(27x" — x)?

@) Ix(x+1) (b) 9x B3x—-1)
() 18x (Bx-1) (d 18 (x+ 1)
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Q) What is the HCF of 36(3x* + 5x° — 2x%), 9(6x° + 4x* — 2x)
and 54(27x" — x)?

@) Ix(x+1) (b) 9x B3x—-1)
() 18x (Bx-1) (d 18 (x+ 1)

Ans: (c)
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Q) What is the HCF of the polynomials x> + 8, x* + 5x + 6
and x° + 2x° + 4x + 82
@ x+2 (b) x+ 3
() (x+ 2)2 (d) None of these
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Q) What is the HCF of the polynomials x> + 8, x* + 5x + 6
and x° + 2x° + 4x + 82
@ x+2 (b) x+ 3
() (x+ 2)2 (d) None of these

Ans: (a)
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Q) Every prime number of the form 3k + 1 can be represented
in the form 6m + 1 (where, k and m are integers), when
(a) k 1s odd
(b) k i1s even
(¢) k can be both odd and even
(d) No such form 1s possible
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Q) Every prime number of the form 3k + 1 can be represented
in the form 6m + 1 (where, k and m are integers), when
(a) k 1s odd
(b) k i1s even
(¢) k can be both odd and even
(d) No such form 1s possible

Ans: (b)
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Q) The sum of first 47 terms of the series

1 1 1 1 1 1 1 1 1 :
—_——t—————_——_——_—t — - —t — 1S
4 5 6 4 5 6 4 5 6
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Q) The sum of first 47 terms of the series
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@) 0 (b) 1
. -
6
1 P
© - @D 75

Ans: (b)
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Q) If 10" divides 62> x 757 x 105%, then what is the largest value
of n?
(a) 20 (b) 22 (c) 23 (d) 28
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Q) If 10" divides 62> x 757 x 105%, then what is the largest value
of n?
(a) 20 (b) 22 (c) 23 (d) 28

Ans: (a)
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Q) What is the remainder when (172 + 23 + 29%) is divided
by 23 ?

@ 0 (b) 1
() 2 (d) 3
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Q) What is the remainder when (172 + 23 + 29%) is divided

by 23 ?
@ 0 (b) 1
©) 2 d 3

Ans: (a)
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Q) The LCM of (x° — x* — 2x) and (x° + x?) is
@ x° - r — 2x (b) 2+ x
©) x*—x> —2x° @ x-2
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Q) The LCM of (x> — x* — 2x) and (x° + x%) is
@) X% - 2 (b) 2+ x
© x* -2 -2+ @) x -2

Ans: (c)
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EXAMS

Q) Consider the following statements:

() There 1s a finite number of rational numbers between
any two rational numbers.

(I) There 1s an nfinite number of rational numbers
between any two rational numbers.

(IIT) There 1s a finite number of 1rrational numbers
between any two rational numbers.

Which of the above statements 1s/are correct?

(@) OnlylI (b) OnlyII

(c) OnlyIII (d) Both I and II
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EXAMS

Q) Consider the following statements:

() There 1s a finite number of rational numbers between
any two rational numbers.

(I) There 1s an nfinite number of rational numbers
between any two rational numbers.

(IIT) There 1s a finite number of 1rrational numbers
between any two rational numbers.

Which of the above statements 1s/are correct?

(@) OnlylI (b) OnlyII

(c) OnlyIII (d) Both I and II

Ans: (b)
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| 1 1 1 99
Qi Ix2  2x3 3x4 7" n(n+1) 100
the value of n?
(a) 98 (b) 99 (¢) 100 (d) 101

then what 1s
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1 1 1 1 99
QIf Ix2  2x3 3x4 T n(n+1) 100
the value of n?
(a) 98 (b) 99 (¢) 100 (d) 101

then what 1s

Ans: (b)
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Q) The highest four-digit number which is divisible by each of
the numbers 16, 36, 45, 48 1s

(@ 9180 () 9360 () 9630  (d) 9840
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Q) The highest four-digit number which is divisible by each of
the numbers 16, 36, 45, 48 1s

(@ 9180 () 9360 () 9630  (d) 9840

Ans: (b)
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Q) What is the remainder when (17%° + 19%) is divided by 182
(@) 6 (b) 2 (o) 1 (d) 0
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Q) What is the remainder when (17%° + 19%) is divided by 182
(@) 6 (b) 2 (o) 1 (d) 0

Ans: (d)
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Q) The expression 5% — 2°" has a factor
(@) 3 (b) 7
(c) 17 (d) None of the above
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Q) The expression 5% — 2°" has a factor
(@) 3 (b) 7
(c) 17 (d) None of the above

Ans: (c)
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Q) Which one of the following is the largest divisor of
3%+ 3¥+1 + 3%*2 ifx is any natural number?
(@ 3 (b) 13 c 39 (d) 117
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Q) Which one of the following is the largest divisor of

3%+ 3¥+1 + 3%*2 ifx is any natural number?
@ 3 (b 13 © 2 () 117

Ans: (c)
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Q) Consider the following statements:
If p 1s a prime such that p + 2 1s also a prime, then
L p(@p+2)+1i1s a perfect square.
II. 121sadwvisorofp+ (p+2),1fp>3.
Which of the above statements 1s/are correct ?
(@) OnlylI (b) OnlyII
(c) Both I and II (d) Neither [ nor II
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Q) Consider the following statements:
If p 1s a prime such that p + 2 1s also a prime, then
L p(@p+2)+1i1s a perfect square.
II. 121sadwvisorofp+ (p+2),1fp>3.
Which of the above statements 1s/are correct ?
(@) OnlylI (b) OnlyII
(c) Both I and II (d) Neither [ nor II

Ans: (c)

EXAMS
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Q) Which one of the following 1s correct?
The sum of two 1rrational numbers

(a)
(b)
(©)
(d)

1s always a natural or irrational
may be rational or 1rrational

1s always a rational number

1s always an 1rrational number

[=HE=
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EXAMS

Q) Which one of the following 1s correct?
The sum of two 1rrational numbers
(a) 1s always a natural or 1rrational
(b) may be rational or 1rrational
(¢c) 1s always a rational number
(d) 1s always an 1rrational number

Ans: (b)
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Q) If we divide a positive integer by another positive integer,
what 1s the resulting number?
(a) It 1s always a natural number
(b) It 1s always an integer
(¢) It 1s a rational number
(d) It1s an 1rrational number
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Q) If we divide a positive integer by another positive integer,
what 1s the resulting number?

(a) It 1s always a natural number
(b) It 1s always an integer
(¢) It 1s a rational number

(d) It1s an 1rrational number

Ans: (c)
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Q) Consider the following statements in respect of three 3-digit
numbers XYZ, YZX and ZXY :
1. The sum of the numbers is not divisible by
(X+Y+2).
2. The sum of the numbers 1s divisible by 111.

Which of the above statements 1s/are correct?
(a) 1 only (b) 2 only
(¢) Both1and?2 (d) Neither 1 nor 2
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Q) Consider the following statements in respect of three 3-digit
numbers XYZ, YZX and ZXY :
1. The sum of the numbers is not divisible by
(X+Y+2).
2. The sum of the numbers 1s divisible by 111.

Which of the above statements 1s/are correct?
(a) 1 only (b) 2 only
(¢) Both1and?2 (d) Neither 1 nor 2

Ans: (b)
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Q) The least number that should be added to 2055 so that the
sum 1s exactly divisible by 27 :
(a) 4 (b) 27 (c) 31 (d) 28
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Q) The least number that should be added to 2055 so that the
sum 1s exactly divisible by 27 :
(a) 24 (b) 27 (c) 31 (d) 28

Ans: (a)
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Q) Let x be the least number, which when divided by 5, 6, 7 and
8 leaves a remainder 3 1n each case but when divided by 9
leaves no remainder. The sum of digits of x 1s

@ 22 (b) 21 © 18 (d) 24
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Q) Let x be the least number, which when divided by 5, 6, 7 and
8 leaves a remainder 3 1n each case but when divided by 9
leaves no remainder. The sum of digits of x 1s

@ 22 (b) 21 © 18 (d) 24

Ans: (c)
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Q) I have a certain number of beads which lie between 600
and 900. If 2 beads are taken away the remainder can be
equally divided among 3, 4, 5, 6, 7 or 12 boys. The number
of beads I have

(@) 729 (b) 842 (c) 576 (d) 96l
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Q) I have a certain number of beads which lie between 600
and 900. If 2 beads are taken away the remainder can be
equally divided among 3, 4, 5, 6, 7 or 12 boys. The number
of beads I have

(@) 729 (b) 842 (c) 576 (d) 96l

Ans: (b)
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Q) A hall is 13 metres 53 cm long and 8 metres 61cm broad 1s to
be paved with minimum number of square tiles. The number
of tiles required 1s:

@ 123 (b)) 77 © 9 () 57
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Q) A hall 1s 13 metres 53 cm long and 8 metres 61cm broad 1s to
be paved with minimum number of square tiles. The number
of tiles required 1s:

@ 123 (b)) 77 © 9 () 57

Ans: (b)
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Q) Three wheels can complete respectively 60,36,24 revolutions
per minute. There 1s a red spot on each wheel that touches
the ground at time zero. After how much tume, all these spots
will simultaneously touch the ground again?

(@) 5/2 seconds (b) 5/3 seconds
(c) 5 seconds (d) 7.5 seconds

[=HE=



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 2

Q) Three wheels can complete respectively 60,36,24 revolutions
per minute. There 1s a red spot on each wheel that touches
the ground at time zero. After how much tune, all these spots
will simultaneously touch the ground again?

(@) 5/2 seconds (b) 5/3 seconds
(c) 5 seconds (d) 7.5 seconds

Ans: (c)
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